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oailas (1

ax(b+c)=ab+ac ax(b+c)=ab+ac
Jaandl) )
A (2
# 5(x+2)=5x+10
# 3(4x-1)=12x-3
# 8x+12=4(2x+3)
& X* =7x=x(x~7)
praxd (3
=ac+ad +bc+bd
Ll (4

# —6(x* ~5x+2)=-6x* +30x 12

& -21x-14y+35=~-7(3x+2y-5)

# (1-3x)" -8x(1-3x)+9(1-3x)=(1-3x)[ (1-3x) -8x+9]
=(1-3x)[1-11x+9] =(1-3x)(10-11x)

# (=3+Xx)(x-2)=-3x+6+x*-2x=x" ~5x+6

dalgd) cl@Uatiall ||
paikad (1

Saillata (2
& (x+3)° =X +2xxx3+32=x* +6x+9

& (1-5x)*=12 - 2x1x5x+(5x)" =1-10x + 25%°
* (x+6)(6-x)=6"-x*=36-%
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Jaarill d15a] (3
& 9x? +30x+25=(3x)” +2x3xx5+5? =(3x +5)’
%,—/
& X2 -x+0,25=x2 - 2x xx0,5+0,5? =(x-0,5)°
| S—

& 1-49x° =17 - (7x)* =(1-7x) (1+ 7x)
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